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Paper I

Section Id : 517144145
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144446
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 51714410958 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&mﬂééoémﬁméﬁ "eg0D arerdtein" edne REAY

Options :

The physical location of an institution.
;’30@ g as &8

1. ®
The number of students in a classroom.
) % S55a859 3]{:5&5@@ Q0ogy
The arrangement of furniture in a classroom.
Cletate ok $HO)EB 9B
3. %
The overall context in which learning takes place.
4 @ SFFR 2261 Bnm S{elate)faoy

Question Number : 2 Question Id : 51714410959 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Postgraduate education falls under which level of teaching?
TSE S8 Dy @ DO 5‘;03355 006

Options :

Elementary education

|y ErEDE D5

Secondary education

) % &é@dﬁa E’Jéé

Tertiary education
- ééé@ﬁ; Ay

Vocational education
o % éej@ 3]655

Question Number : 3 Question Id : 51714410960 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
@H8S He5565, &mﬂgﬂﬁga} HPese Sotsy HBOYS Sgen a:bth “é@o

Options :

Virtual discussion boards
S’)iﬂ)&&’}ﬁ oy ﬁﬁéjﬁe:a

Online chat rooms
5 % 8080 o8 Hthen

Social media platforms

| x PEOBE SriisH 368en

Face-to-face in the classroom

. S558 KBS Hnge Hnd



Question Number : 4 Question Id : 51714410961 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?
xofo (58 Bog) (FRHE Ha 267?

Options :

Offering degree programs online.

- ©5858° B seEEHne HSaED

Providing paid specialized courses.
, x B00DP (858 8°Enen doEn Dabne

Broadcasting educational content through TV channels.

3 B ) oxoe Doy AP (©F80 Scfnes

Conducting in-person workshops and seminars.
Mxahore Hpsraen, HEknen Jbieroihe

4. %

Question Number : 5 Question Id : 51714410962 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
sage (D, DB ehsbeem, SDd (HArHTem B8 sreirSes

Options :

Traditional teaching methods
FrolmrahE Hesae SGeEen

1. #

ICT-based assessment tools

- ICT- esprBef 30H03) HVB0ED



Qutdated educational technologies
, % SP00B0B0 g FoBaESen

Mon-interactive resources

L% ‘éé@ééé HBoen

Question Number : 6 Question Id : 51714410963 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
[Derres)E 588555 @b

Options :

Observing and describing phenomena without intervening
éﬁééo S8 %0 :‘5&% DHcire HB88ed DH8m

1. #

Manipulating variables to establish cause-and-effect relationships
o8 (g Homogreidn Josrobohid Serodein Xy leh) Dcine

Conducting surveys and interviews to gather opinions
@darch HESeH éé‘f}@:}, moé8rgen DBerohHeés

Analyzing historical documents and records

4% TBErSE digre, Bsthe DBHee

Question Number : 7 Question Id : 51714410964 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
588°55E° 8% araddesh TrDomHHe

Options :



Objective truths can be directly accessed without the influence of human
perception.
A Ears Dereil,sris (Hire €8 Bowe (DegBore 366’355)3&63.

1. ®
Subjective experiences play no role in shaping research outcomes.
- 56850 Hhare Eﬁjﬁ&’}ér&};&ééﬁ HEarS oo arld 6okt

While objective observation is important, researchers’ interpretations also
matter.

o R Bars 5888 g, 58885 DSBesen K (@i0gges Beraron.
3.

Research should solely rely on abstract theories rather than empirical
evidence.
588855 G Tatabe leln= %ﬂégén_g._} 5e506r, Holifsr Eam;o@ﬂ@_;’g =95t

4 % e,

Question Number : 8 Question Id : 51714410965 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
Alasletaleln SS5bes® R0 @b

Options :

Using too many references in a paper
a8 angﬁai:aéﬁ TPET STPETOLRE) SaCaEaD

Quoting a source directly without citation

5 o8pdo sehowe (BgEore HJBD a2

Rewriting someone else's work in your own words
a3t HHe HAD & ‘é&oéﬁém&a}ﬁﬁ S8R (seaindd

Properly citing sources to give credit to the original authors

. wden o Torild Sdhod 6 elbohe
4.



Question Number : 9 Question Id : 51714410966 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.8 H8855 aﬂééoéﬁ Degereen Hedireen (Esodn 2b.
Options :

Methods, Introduction, Results, Discussion, Conclusion, References
a”:.egéam, HBScHam, Pbearen, S8y, awAo, égﬁia}a’a@a

1. #

Introduction, Methods, Results, Discussion, Conclusion, References
- HBBahamw, ége‘_’mm, HB@cen, B8, swhod, &agﬁmeém

Introduction, Conclusion, Methods, Results, Discussion, References
- 2DBScHam, swhosd, ége‘ﬁjm, Pdren, 3G, ég‘.ﬁaz?éen

Results, Methods, Introduction, Conclusion, Discussion, References

L ® SHBeeen, a’:.cgén@a, HBBahen, SwA0Y, SY), ﬁé&}éﬂ)

Question Number : 10 Question Id : 51714410967 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments" section in a thesis?
famgoé avéﬁ}a’m@-:ﬁﬁ é@é@é@ Deridm 558080

Options :

To list all the references used in the research
588055859 éé@%’a@ erdar Soirth DAk

To introduce the research methodology
, x DB HEAY HBIcHo Vasnes

To acknowledge and thank individuals who contributed to the research
588085% %%J&B’J a’?@@@otﬁag B0, Higarrren denipt



To present counterarguments to the research findings
5888558 aDsEre D (HSSreIrSen Bsne

4, %

Sub-Section Number : 2
Sub-Section Id : 517144447
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410968 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999
Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Note: Answer the questions 11-15 by reading the following passage:

H50E: Bod askpid Siraro egrdore Q. 1108 Q. 15 (Dol Jdrgraroen
[Bilevilelnt

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

QB35 PEE Gy 5o, Hurth wodhe IEHE KrES DRSS PdSo, 1700 &
BoSntod. =86 HE26 %éf@s CoH 28 oSS 3 gy ob.gP5H0 oot He
Dt Orbndd O HBcH DiRSed SDAS arE wolf O Béy BB
308din o0 D8 orora) VPR DL odin Beden BOAD a8 &%) 3ep 56
DB BBeeo BHre HoAod. TeT Dol AB =hETrond® Lr8S DTS SEE aré.
K& D o, &’bég %55 sogech Enokh Senshid é}tﬁ)ﬁ‘)@“m. 508 Haroe
(5886 $od Dén InsS Boh DB (Erowoh Er&Heds ahaper DEsrow.
SofH8 EHID a&8en ST700. JA% GenHen oo =08 FhE &5 sheresta
H3¥o &ob.

Sub questions

Question Number : 11 Question Id : 51714410969 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
&“D‘QE @36 '53‘565 cﬁmé@r o arsh Hbasm

Options :

stately

KodB38.
1. % e

in ruins
BHOFBE

uninhabitable
Qmﬁcﬂrﬂﬁéo 5o 8

inhospitable
4 % ©8BOBIH

Question Number : 12 Question Id : 51714410970 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
Bl ale) &b Eﬁé@iﬁm&o&

Options :
red stone
| % o8 orom

sand stone
» % 208 Teon

wood

3 @ Béé_

stones

4 ox TH)

Question Number : 13 Question Id : 51714410971 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
@ Fodo DB & D08 &ob
Options :
grass
fale
G

1. ¢

wilderness
@ESE:%D

low trees
Dy 3én

flowering pots

L% e Boden

Question Number : 14 Question Id : 51714410972 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
2.8 ga) 61 shén &8 56&&@0&3.

Options :
garden

1 % &hey

courtyard
, % [(@rolieo

dining room

3 BHhasarer K6

office

L% svo%@cﬁjo



Question Number : 15 Question Id : 51714410973 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The word that means- “wide' in the above paragraph is
2 aoed? Dmed o ©B%0 $) Do

Options :

Extensive

DB
1. TR

circumference
éaégg%“@e‘_‘é

2. %

dimension
3 % =0PRo

Uuncommon
N
Lo O eOEIR
Sub-Section Number : 3
Sub-Section Id : 517144448
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 51714410974 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in
establishing a constructive relationship
EoregUB S @FTrod Jardnod HBdn Joyerds HSonogel)) DBYBSE0S®
RITECHHTED06.

Options :

positive

arsngrre

1.¢

passive
Qlepcs

2. %



reflective
6*3@55 aPSR&d Lrdd

3. %

retentive
L% e I8 He

Question Number : 17 Question Id : 51714410975 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
5% 98I (518cHEP (Hord 56550 ﬁa’ntga’)oé@é
SESESE0
Options :

stress management
2,86 DBTes

listening
v DAEE JHesgo

crisis management

‘K)ogﬁaf VBsTes

time management
Qhah DEees

Question Number : 18 Question Id : 51714410976 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Successful intercultural communication depends greatly, when one
other cultures.
=late! ﬁoﬁe‘;&é}@:@ &otito Hed, @Di’siﬂn}oé‘;ﬁ,@ NogrERee @8snbEen

Bowe FirHehod
Options :



praises
g (2803

respects
x4 880

practices
ATy

belittles
E}eéﬂw_ S5y

Question Number : 19 Question Id : 51714410977 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
ﬂﬂgﬂﬁ) 5&en 2.8 DAY DEFore SrERBH, ob SO SHroroeds
mﬁ@é’bi‘é@d}, AL el motrth
G
Options :

Psychological
| % AedB SN0

physical
AR

emotional
epﬂﬁﬁf:ﬁ&ﬁ

perception
@RI

Question Number : 20 Question Id : 51714410978 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



‘Twitter’ and ‘Linkedin’ are examples of media
‘@5%5’ 065w ‘@0%5 : AR s eleloy

Options :

social

o e

digital
g GBS

Print
3w SwBS

Traditional
20DTPANE D

Question Number : 21 Question Id : 51714410979 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,

Options :
| % 19020

, » 19200

19220

21120

Question Number : 22 Question Id : 51714410980 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, ___, SSG, XUD

Options :



| % MPI

Mal

NPJ

NQJ
4. &

Question Number : 23 Question Id : 51714410981 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?
2.5 D0 F6 A S KITE @F D)) 45671 2HOCIN RATE e0F H0°0)
8967 56 TN, & 27N TAKE @93 JTP)) oew §& T

Options :
| » 6974

, « 6794

3 6479

6947
4. %

Question Number : 24 Question Id : 51714410982 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis____

B0 DowEen 2:7 DNYBS’ &) ow. (268 2,533 12 DoDILons,
OISO [0CHE3 HOAL BTOCsed DOWEE A1) 1:3 @o)eR0R. B0
QOE_ 7

Options :



84

« 112
.« 126

, v 168

Question Number : 25 Question Id : 51714410983 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is

16 03009 By &8 12 836059 @.0285) GBEY DSTH0 eon®d, erds

Freh0

Options :
| % 16.66%

20%

2. %

25%

0,
L 33.33%

Question Number : 26 Question Id : 51714410984 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

PSETATHIDWVE

FoeR) HE TS,

§) Zoren OO seren.

o¥$d) =9.

Conclusions:

l. All hills are ropes.

. No hill is rope.

II. Some ropes are definitely hills.

ST I eN):

. 0G0 &%,

Il. Q §0cs $rm = 2.

1. §Q0) &0 DD SO Fodsen.
Options :
% | follow

Either | or |l follow

2.

11l follow
3. %

Either Il or 1l follow.
4. v

Question Number : 27 Question Id : 51714410985 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in

the class failed in at least one subject?

10 00 DT stHens) $SHKBS TS’ 110 H08, He3e5065° 120 H0H
DTPEEEN DOV, BOD HBPE’ 30 H0H DTestden
2OV . 5513 D030 JTeen EDN0 2.5 HBHS

PONOAITE?
Options :

% 120



, » 160

;% 140

, % 180

Question Number : 28 Question Id : 51714410986 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father's only daughter-in-law’'s brother related to me?
S0 TROYTPO 28T Sy T 5510388 T80 erosdzo b eE3?

Options :
Father

Paternal Uncle
T";Jr‘,ﬂaﬂ@_

Maternal Uncle

| o S0k

Cousin

Question Number : 29 Question Id : 51714410987 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

T8O QOGOD® AFLO esm 6725 (05700 @drardd HoD0HOoD) &
1206 5365 ABIA IO AO?
Options :



Linga/Sadhana is the middle term

. DOK/DreH @36 ggiy S0
1.

Paksa is the minor term
28 R i':JEéc;L PSTALe)

Sadhya is the major term
3 % e @30 (e Do

Hetu is the minor term

T ©Rb {’Jeécl Ao
4.

Question Number : 30 Question Id : 51714410988 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is true with respect to the first figure of categorical

syllogism?

S50%5en TB0E) DNEHES @0TE HODOHOD & (B0 73S DO He5:0?

Options :

The middle term is the subject of the major premise and the predicate of the

minor premise

D5 D0 @RA (DTN [Habdbo C30E) @0F0 OO D) es58ed

L G308} ardredgo

The middle term is the predicate of the major premise and subject of the

minor premise

20EE D0 T D) (Hhdho TRV (DT €353 2DOOID 56N

, % O30E) 2rSred8o

The middle term is the subject of the major premise and the predicate of the

conclusion

3. %

G5 D0 VA (DTS 35S0 HOO3D S0A0) A3} @030



The middle term is the subject of the minor premise and the predicate of the
conclusion

AR alRslale @O DY) HHdho HOAD SN0y A3NE) @o0d0

Sub-Section Number : 4
Sub-Section Id : 517144449
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410989 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
oD RE: 180G R 50B8 drerdo esirdorr Q. 31 cHod Q. 35 (4) %0
S VAVISVIEVOWela

In an University, the strength of male students is 1500, Female students is 1200

and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.
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Which of the following is the maximum?
80O ¢3S (100 DO?
Options :

Number of female students in chemistry department
L% SR deriod Hsrer doride Sows

Number of female students in Botany department
5 v T Deriod T AorHe HoP;

Number of faculty teaching Management
HITEZ oS EDoN arsEe) Hdoge

3. %

Number of male students in chemistry department
L TR DerroS i Doesdded Hows
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23065 TN (2are2d) DTEihen 08 D0 8. 2,.5.5)08 25,000. |DHed
23065 P R(2Pare2d) aﬁé@ Q2020 O1eN 2250 T8y 63.10,000. SadTen
DN eSS’ Do TeH0 eorrEiNFe Berds TOTH?

Options :
|« 56%

, % 51%

L% T1%

L n 47%
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007

{e3e50, D225, cHOOIW %EDJL_?Q HOB daesde Hop:, SN, erarered
2005 eroTiFER SDHT DD SoW K, H0DOHES INT W
T 1008 o320 TR ST 5ed D)€ DOehH?

Options :

i Homy
1.+

X 7:6

3 % 4:3
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In which Department is the ratio of faculty to students, the lowest?
LOTENHO DO DTS DB &) V2P eoeh:er YOI GOO?

Options :
Botany
| x D8RO0
Chu'atn:u_‘ie.tr'_«,»r
2 v Sl
Language
3 8 EJDE‘/J

None of the above
H5e36Y A B

Question Number : 35 Question Id : 51714410994 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?

DT 0 SOOT 9IS 25% 0O AR DTs DO TS
BTRBS, & N05e 35065 DRE 0SS 40 H0A JesthHed (D
21255 CN ST O OO 3765 002N S0EFH?

Options :
1.v 3
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Sub-Section Id : 517144450
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 51714410995 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

ASCII stands for ?
0).CDR. M. 0.8 &M

Options :

- American Standard Code for Information Interchange

American Standard Code for Information Interaction

3 % American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction

Question Number : 37 Question Id : 51714410996 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

........ is a private network within an organization.
& BIDD H0PS® DB (RBS 5By,
Options :

Internet
1. %

) Intranet

3 % Ethernet

, Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-fogrecsire &86d I8 Sairdh I

Options :

Ministry of Education

v g, S0o(B&E

Ministry of Finance
@gé Soo(B&o

2.
Ministry of Electronics and Communication
3 % JO(5PEY), ééﬂg&éa’l@ Soo|@eko

Ministry of Mines
Ko Hol@sio

4. %
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RAM means ........
orPe) &NTe

Options :

Random Access Memory
1. ¢

Rapid Access Memory
Remote Access Memory

4. ® None of the above
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Which is an example of a cloud-based file storage service?
BI5H% S DB hdo eaprds %ﬁﬂé 5% &oote?

Options :

Whatsapp

Mozilla Firefox

3 Dropbox

4 % Instagram
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The target year for achieving the Sustainable Development Goal is...
ReBes @éja’)ej% OFS BvlaTni=Y) ﬁjﬁ?}@é ponesBo

Options :
2025

, o 2030

L % 2035

2040
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Which of the following statements is true about global warming?
(H%0E SBDHS® S HIDD B HATHG OO ?

Options :

Global warming has led to large scale deforestation

. DHos S8 2 S8 @68 REORD 68208
1.

Global warming has led to a rise in the sea levels
5, D30I SBD [0S SPone DD 88208

Global warming has led to a rapid increase in the population across
several countries

3 % (HH0S 38D DS Baeesd aorer S0l DHHBODH bEH0H

Global warming has led to a huge amount of waste generation
555038 S8 0 E{:’JT 65885 B8 08.
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Correct Marks : 2 Wrong Marks : 0

Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
8 DG $B8errreo é*’mé}ﬁ% BE9IEQ éﬁﬁo{ﬁ EN BN PBSBFT‘;SET& e

BIDY seding (Hgrddo 5‘@0&:
Options :
Carbon monoxide

- 50@5 S0eEG

Carbon dioxide
G0 8 s5E

2. %
Sulphur dioxide
3 % Senb @ wgiE
Nitrous dioxide
4% S =56
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The National Institute of Disaster Management (NIDM) was established

B0 DHE) Dirm Do Fhodadsd 86

@ @
Options :
September 23, 2002
?}%g_oeaﬁo 23,2002

August 14, 2001
ey 14,2001

October 16, 2003
; » ©Sa® 16,2003

August 14, 2004

4 @ﬁ@ﬂ 14,2004
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Where was the first International Earth Summit held?
1y als) @}Deﬁtﬁ;@tﬁ) Zr8goel HErSEo =BAD ﬁ@a}o
Options :
| = Kyoto

) @ Rio de janeiro

Mew Delhi

3. %

~ New Yark
4, %
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What do you mean by ‘Shastras’?
Fo|een @R

Options :

Creative literature
QeardE Jeordso
el [

Learned disciplines
) 8B Boleren

Imaginative
3P

Creative and Imaginative
4w Erdl, iy
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Who was the chairman of NEP 2020 drafting committee?
2R.3.2 2020 snronte eiiEheh J5H ?

Options :

Kailasavadivoo Sivan

Dr. K. Kasturirangan
2.¢

Prof. Yaspal Sharma

Prof. G. RajaGopal
4. %
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Which of the following learning programme originated in India and is considered
as one of the oldest?

B08airs’ (Froflodad, HUrSSDHIOM HBKBoNNt @ggd sHEHSD DB ?

Options :

Law

a"aﬁdﬁa B8
1. =

Fine Arts
) % ef)ed Bgen

Ayurveda
3 e.aciﬁn:nfﬁécﬁ



Management
QR Es
4. % =
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Which is a solution to reduce the progress of climate change?
et Sy AN ShoHEH 5B 6

Options :
Greenhouse Gas
DB =08 WD

1. =

Wind Power

) md 38

Deforestation
@E38) m&méﬂé

Fossil Fuel
Bewes BOLHD
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
20805785 (580ess, @’}éﬁ)é&éé ﬁo}g@;, _é:lté 8588, & S g P

segEshe) Ssrarih @@Eﬂé@ﬁg&ﬂ.
Options :

Resource model
| & DOBe S



ltinerant model

L x  OiEe S
Both Resource and ltinerant models
B0Boew nBdAdn i Hsrae
3.9
Dual Teaching Model
[al¥ela! £8e58 Bomae
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In which schools of Indian thought about voga. “Prakrti’ remains located as a principle of
ultimate reality into self and 1s active only in the presence and service of *Purusa’s

Options :

L% Integral yoga philosophy

> % Vedanta



3 Samkhya

4 % Sahaj yoga
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Arrange the Nafs (Self in Sufism) from lower to higher self:

(A) The self-pleasing to God

(B) The pure self

(C) Inspired self

(D) Serene self

(E) The pleased self

Choose the correct answer from the options give below:

Options :
| % B OAR D

» ¢ C.D.E.A.B

3 % C.E.ADTB

B,C,EDA
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It 15 possible to accept the world as 1t 1s, without experiencing dissatisfaction. This 1s
related to which of the following in Buddhism?

Options :
. Right thought in eight-fold path

5 % Right mindfulness in eight-fold path



Elimination of craving
3.9 =

Existence of satisfaction/dissatisfaction
4. %
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Which of the following are correctly described influences of Behaviorism?

(A) Watson's scientific psychology was designed to predict and control human behaviour

(B) Mary Cover Jones studies the effectiveness of counter conditioning

(C) Skinner claimed to have introduced the term ‘Behaviour therapy”’ and 1s also credited
for it

(D) Lazarus emphasized the extension of Thorndike’s Law of effect

Choose the correct answer from the options given below:

Options :

(A) and (D) only

1. #

“ (B) and (C) only

3 (A) and (B) only

4 % (C) and (D) only
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Match List-I with List-II:

ListI List-II
(Schools of Psychology) (Concept)
(a) Psychoanalysis (1) Elements of conscious experience
(b) Behaviourism (i1) Self-actualization
(¢) Structuralism (111) Unconscious processes
(d) Transpersonal Psychology (1v) S-R relations

Select the correct option:



Options :
(a)-(1i1): b-(1): (¢)-(1v): (d)-(11)

- (a)-(111): b-(1v): ()-(1): (d)-(11)

s w0 (@-0: (0)(0v): (0)(ib): (d)-(ii)

4 % (a)-(1): (b)-(11): (e)-(1v): (d)-(111)
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What 1s the correct sequence of transformation in Integral Yoga?

Transformation of Physical
Transformation of subconscient
Transformation of mind
Transformation of Vital

monwE»

Transformation of inconscient

Choose the correct answer from the options given below:

Options :

L CDUABE

, % A, C.D,B,E

; % AD.C,B.E

4% C,A DB E
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Which one of the following branches of Philosophy of science deals with the question of

existence?



Options :

| % Post- positivism

_ Structuralism
2. ®

3 Ontology

4 % Scientific realism
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Which of the following are considered in favour of scientific realism?
Corroboration

Empiricism
Miracle argument

on @

Selective optimism
Choose the correct answer from the options given below:

Options :

A and B only
1. %

B and D only

;3 % B and C only

4 « A.CandD only
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What are the characteristics of “Emerging persons™ in Rogerian approach?

A. Honest and Open

B. Indifferent to material comforts and rewards
C. Caring

D. Having profound trust in authority

Choose the most appropriate answer from the options given below:
Options :
A and B only

C and D only
2. %

- A. B and C only

% B. C and D only
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Arrange the following as per the Yogic concept of cognition.

A, Sensorial transformation 1s attended by manas
B. Reaction by budhi to the object of cognition
C. Registration of external object on mind

D. Assimilation and Discrimination by manas

E. Information to Ahamkara

Choose the correct answer from the options given below:

Options :

. x CAEBD

5 C.A,D.E.B
3 % A;C,D,E;B

, » CCA.B.D.E
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An independent-measures 7 statistics 1s used to evaluate the mean difference between two
treatments with n = 8 1n one treatment and n = 12 in the other. What 1s the dfvalue for the
rstatistic?

Options :

w17

2. % 19
3.4 18

4 % 20
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The primary disadvantage of within-subject design 1s that it can result in
Options :

Hawthorne effect
1. %

,  Carryover effect

Placebo effect

. Ceiling effect
4. % 5
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Which of the following statements are TRUE?

-

. Small N design is useful in clinical setting.

. The philosophical basis for some small N research is the position taken by B. F.
Skinner.

. Small N designs have been criticized for being unable to evaluate interactive effects.

[ )

L)

Options :

1 only

) 1,243
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Identify which of the following 1s Not an assumption of factor analysis?
Options :

~ No outlier
1.

Linearity

3 o Nominal data

No perfect multicollinearity
4, %
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In which of the following control procedure. each subject experiences each condition in a
different order from other subjects?

Options :

Counterbalancing

Reverse counterbalancing
2. %

Block randomization
3. %

Latin square
4.
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Which of the following qualitative research method process aim is theoretical saturation?
Options :

Ethnographic research

1. %
Grounded theory

2.¢
. Phenomenology
3. % o

Case studies
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In a 2x2 factornial design. how many mam effect and interaction combination of results
are possible?

Options :



» Eight

) % Four
3 % Six

4 % Twelve
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The analysis of covariance 1s a combination of
Options :

Correlation and regression analysis

1. %
An ANOVA and a multiple correlation
2. %
 Multiple regression and multiple correlation
3.

An ANOVA and a regression analysis
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Presenting participants with false teedback about their performance as a part of research
indicates violating which aspect of research ethics?
Options :

Breaking confidentiality
1. *



Debriefing
2. %

Institutional permission
3. %

Deception
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In which of the following research method triangulation 1s used?

Options :

Survey method
1. %

Laboratory experiment

2. %

3@ Case study
Archival research

4. %
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Functional Analysis 1s used for
Options :

Cognitive Assessment
1. %

Behavioural Assessment
2. %

Personality Assessment
3. %



4 % Assessment of Intelligence
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The extent to which test scores correlate with scores on other relevant measures
administered at the same time 1s referred to as
Options :
Construct validity

Concurrent validity
2. ¢

Content validity

Predictive validity
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Which of the following 1s Not a subjective test?
Options :

Rorschach Inkblot Test

Minnesota Multiphasic Personality Inventory - 2
2.¢

Sentence Completion Test
3. %

« Thematic Apperception Test
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Which of the following scale assumes that the strength/ intensity of experience 1s linear?

Options :

L Likert scale

Semantic differential scale

3 % Equal appearing interval scale

Bogardus social distance scale
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Which of the following is considered to be an ideal combination to ensure accuracy in
selecting employees?
Options :

A moderate base rate. a high selection ration & a test with a high degree of validity

A moderate base rate. a low selection ratio & a test with a high degree of validity

A high base rate. a low selection ratio & a test with a moderate degree of validity

A high base rate. a high selection ration & a test with a high degree of validity
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Which of the following personality inventory consists five global factors?
Options :
Myers-Briggs Type Indicator (MBTTI)

1. %

Minnesota Multiphasic Personality Inventory (MMPI)

2. %
3 ¥ 16 Personality Factor Questionnaire (16 PF)
43 NEO Personality Inventory- Revised (NEO PI-R)
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If you administer both the original Wechsler Adult Intelligence Scale (WAIS) and its

latest revision. the WAIS-IV to a group of present day individuals. chances are that their

1Q scores would be
Options :

The same on both tests
1. %

v Higher on the WAIS than on the WAIS-IV
2.9

Higher on the WAIS-IV than on the WAIS

Half of the group scores high on WAIS and rest half on WAIS-IV
4, %
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Which of the following reliability coefficients are used to estimate time sampling error in

test scores”

Options :

| % Split-halt

5 % Scorer

Alternate form

Test-retest
4.«
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Read the following Assertion (A) and Reason (R) and indicate your answer:
Assertion (A): A speed test 1s one where participants need to work quickly.

Reason (R): The items in speed tests are usually ordered in terms of difficulty, with the

easiest at the start and the hardest at the end.

Options :

Both A and R are correct and R 1s the correct explanation of A
1. %

Both A and R are correct but R 1s NOT the correct explanation of A
2. %

3 @ A 1s correct but R is not correct

. A 1s not correct but R 1s correct
4.
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Match List — I with List — IT and indicate your answer using codes given below:

List—1I List—1I
( Inventory ) (Developer)
p. State Trait Anxiety Inventory (STAT) 1. Isabel Myers and Katharine Briggs

q. Depression, Anxiety & Stress Scale (DASS) 2. Costa & MecCrae

r. NEO-PI-R 3. Spielberger. C. H
s. Myers-Briggs Type Indicator (MBTI) 4. Lovibond & Lovibond
Codes:
Options :
p-2 q-3 -4 5-1

) % p-4 q-3 -2 s-1

3 % p-3 q-2 r-1 s-4

4. i
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Which among the receptor cells in the retina that are highly sensitive to light?
Options :

Cones
1. &

) % Bipolar cells

3 % Ganglion cells



Rods
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Identify the correct sequence of four distinet phases during sexual behaviour
Options :

o Resolution phase. orgasmic phase. excitement phase & plateau phase

Excitement phase. plateau phase. orgasmic phase & resolution phase
2.¥

- Orgasmic phase, excitement phase. plateau phase & resolution phase

Plateau phase. orgasmic phase, resolution phase & excitement phase
4, %

Question Number : 83 Question Id : 51714411042 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following body changes takes place due to parasympathetic nervous
system?

Options :

Increased heart beat

Pupil dilation

Constricts bronchi
3.9

. Slows down digestive system
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Match List — I with List — IT and indicate your answer using codes given below:

List—1I List—1I
(Sleep Stages) (EEG Data)
p. Stagel 1. K complex
q. Stage2 2. Delta activity
r. Stage 3 3. Theta & Beta activity
s. REM 4. Theta activity
Codes:
Options :
p-3 g2 r-1 s4
1. *
) p-4 q-1 -2  s-3

3 ® p-1 q-2 -3 s-4

p-2 g-3 -4 s-1
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Hypothalamus belongs to which anatomical subdivision of brain?
Options :
Diencephalon

1.«

Telencephalon
2. %



Mesencephalon

Metencephalon

Question Number : 86 Question Id : 51714411045 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Trisomy of chromosome 21 results in

Options :
“ Hydrocephaly

Phenylketonuria
2. %

Down syndrome
3.¢

5, Autism spectrum disorder
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Identify the scanning technique from below. which measures glucose consumption as an
mdicator of brain activity?
Options :

Functional magnetic resonance imaging (tMRI)
1. #

Magnetic resonance mmaging (MRI)
2. %

Positron emission tomography (PET)
3.¢



Electroencephalogram (EEG)
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Neurons always carry messages inthe form of

Options :

Electro-chemicalimpulses
1. v

Electro-magneticimpulses
2. %

Electrical energy
3. %

Mechanical energy
4, %
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Match List — I with List — IT and indicate your answer using codes given below:

List—1I List—1II

( Neurotransmitter ) ( Function)

p. Dopamine 1. Control alertness and arousal
q-Norepinephrine 2. Influence the perception of pain & pleasure
r. Endorphin 3. Effects mood. hunger. sleep & arousal

5. Serotonin 4. Influences movement. learning. attention

Options :

-

| % p-3 q-2 r-1 s-4



p-2 q-3 -4 s-1
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Read the following Assertion (A) and Reason (R) and indicate your answer:

Assertion (A): If a finger 1s amputated. the somatosensory cortex that received its input

will begin to receive mput from the adjacent fingers. which then become more sensitive.

Reason (R): The brain’s ability to change. especially during childhood. by reorganizing
after damage or by building new pathways based on experience is called plasticity.

Options :

Both A and R are correct and R is the correct explanation of A
1. ¢

Both A and R are correct but R 1s NOT the correct explanation of A

A 15 correct but B 1s not correct

. A is not correct but R is correct
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The external factors influencing attention are

Intensity
Interest
Novelty

4. Bias
Codes:

LN B

Options :

| % lonly

) land 3

3 % land 2

4 % 4 only
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All incoming information is identified before it enters the consciousness to which a
person responds 1s attribute of

Options :
| w Late selection theory

) Early selection theory

3 % Attenuation theory

L% Serial position effect
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school of psychologists believed that perception is organized according

to principles like proximity. similarity ete.

Options :
Gestalt
1. ¢

Psychoanalystic

Humanistic
3. %

Functionalism
4, %
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In perceptual constancy of a size
Options :

i Retinal image and perceived image will be equal

Retinal image 1s larger when it 1s perceived from a short distance
2. %

Retinal image 1s shorter when it 1s perceived from a longer distance

Perceived image and Retinal images are not equal
4.
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The capacity of the nervous system to perceive a stimulus presented at an intensity that 1s
below the threshold for conscious experience refers to

Options :



| % Supraliminal Sensation

Unconscious Processing
2. %

Subliminal Perception

Tust noticeable difference
4, %
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Which of the following schedule of reinforcement can generate the highest rates of
responding?
Options :
Fixed Interval

1. %

Variable Ratio

Variable Interval

_ Fixed Ratio
4. %
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Cognitive approach to learning was given by

Options :
| « Tolman

7 % Guithre



Skinner

4% Freud
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Concept of classical conditioning was given by

Options :
J.B Watson

Albert Bandura
2. %

Alfred Adler

3. %

Ian Pavlov
4, &
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Match the following:

List -1 List-II
a. Shaping 1. Applying desirable stimulus
b. Punishment 2. Withholding desirable stimulus
¢. Negative Reinforcement 3. Applying undesirable stimulus
d. Positive Reinforcement 4. Successive approximation process
Codes:
Options :



~a-3, b-4. ¢-2,d-1
®

2. %

a-4. b-3. ¢-2.d-1
3. ¢

a-4. b-2,¢3,d-1
4. %
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Iconic memory is type of
Options :

| % Short term memory

« Working memory

Sensory memory
3.¢

4 % Echoic memory
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Theory given by divides intelligence into two factors G type and S type
Options :

L Spearman

Thurstone
2. %

Sternberg
3. %



Guildford
4. %
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Triarchic theory of intelligence was given by
Options :

Spearman
®

o Thurstone

3 o Stemberg

Guildford
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Which of the problem-solving method will always result in a correct solution?

Options :

Heuristics

Trial and error

Algorithm
3. ¢

Mental set
4, *®
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According to Graham Wallas (1926) the four stages of thinking and problem solving in
order are
Options :

Incubation. illumination. verification. preparation

IMumination, preparation. incubation, verification
2. %

3@ Preparation. incubation. illumination. verification

Preparation. illumination, mcubation, verification
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Creative thinking 1s different from routine problem solving in respect
of:

1.Fluency

2 Flexibility

3. Onginality

4. Day dreaming

Code:
Options :

| % 1and 2

, % 2and3

3 % 3and 4

4 1.2 and 3
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Tests designed to measure the ability to acquire new information. used primarily to
predict future performance are

Options :
. Ability Tests

Aptitude Tests

 Achievement Tests
3. %

4% Intelligence Tests
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What 1s not considered as metacognition?

Options :

Thinking about thinking
1. =

Going beyond thinking
2. %

Asking questions while you think
3. %

Being told what to think
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Match List — [ with List — IT and select the correct answer using the codes given below

the lists.
List—1I List—1I

a. Theory of crystallised and fluid mtelligence 1. Guilford

b. The g factor theory 2. Thurstone
¢. Theory of Primary mental abilities 3. Cattell

d. The Tr1 dimensional theory 4. Spearman

Codes:
Options :

| % a-3.b-4,¢-1.d-2

) a-4. b-3. ¢-2_d-1

3 % a-4. b-3.¢c-1.d-2

4 a-3. b-4_¢-2.d-1
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The sequential order of development of intelligence tests 1s

1. Binet— Simon 2. Guilford 3 Sternberg 4 Stanford — Binet

Options :

w1243

) v 14,23
;w4123

43.1.2
4. %
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Assertion (A): Teachers should encourage students to be metacognitive.

Reason (R): Metacognition is the ability to think about one’s own thinking. It is a skill
tor learning and success in school and life.

Options :
Both (A) and ( R) are True and (A) is the correct explanation of (R )
1.v

Both (A) and ( R) are True but (A) 1s not the correct explanation of (R )
2. %

“ A i1s True but R 1s False

R 1s True but A 1s false
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In Freudian theory. anxiety

Options :

reduces repression
1. %

triggers repression

2.¥

is caused by repression

1s unrelated to repression
4, %
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Alder believed that organ inferiorities

Options :

, cause superiority personalities

cause mferiority personalities
2. %

cause inferiority personalities

stimulate feelings of inferiority
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One of Fromm's basic assumptions is that people have been torn away from a union with
nature. and lacking adequate animal instinets. they must rely on reason. This condition is
called

Options :

the rational imperative
1. %

the human dilemma
2.

manifest destiny

4 % Transcendence
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People who score high on the psychoticism (P) scale are

Options :
egocentric. aggressive. and hostile
1.v¥

empathetic. caring. and cooperative
2. %

obsessive-compulsive, hysterical. and suggestible

mtroverted. quiet. and thoughtful
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Allport insisted that the basic units of personality are

Options :

| % conumon traits

cardinal traits
2. %

ergs and metaergs
3. %

personal dispositions
4. &
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Rogers hypothesized that empathy. unconditional positive regard. and congruence are

Options :



necessary and sufficient conditions for therapy

necessary but not sufficient conditions for therapy

sufficient but not necessary conditions for therapy

neither necessary nor sufficient for therapy
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Maslow's concept of hierarchy of needs assumes that

Options :

higher needs have prepotency over lower needs

lower needs have prepotency over higher needs
2.¥

cognitive needs must be satisfied before aesthetic needs become motivators
3. %

aesthetic needs are prepotent over cognitive needs
4, %
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Match List — I (Psychologist) with List — IT (Test):

List—1

(Name of Psychologist)

Last—11

(Name of Test)

a. J.B. Rotter 1. NEO-Personality inventory

b. C. Robert Cloninger

| S

. Hardy Personality

¢. Suzanne Kobasa 3. Locus of control
d. P.T. Costa 4, Temperament and character inventory
Codes

Options :

a-1 b-2 c-3 d-4
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According to the Cannon-Bard theory of emotion:
Options :

emotional experience and physiological arousal occur at the same time

emotional experience precedes physiological arousal

physiological arousal precedes emotional experience

4 w Wecannot experience different emotions
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Read each of the following statements — Assertion (A) and Reason (R): and indicate your

answer using code given below:

Assertion (A): According to two factor theory. cognitive appraisal of cues in the
environment helps the individual label the emotions.

Reason (R): An individual is aroused when he confronts any emotion producing event.
Code:
Options :
Both (A) and (R) are true. and (R) 1s the correct explanation of (A).

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
2.¢

(A) 1s true. but (R) 1s false.

4L % (A) 1s false, but (R) 1s true.
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According to Kelly's attribution theory. if others behaviour 1s low in consensus and
distinctiveness but high in consistency then we tend to make
Options :
Positive attribution

1. %

External attribution
2. %

3 % Negative attribution



Internal attribution
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The sequence of the four elements of reactance theory is
Options :

Perceived freedom. threat to freedom. reactance & restoration of freedom
1.9

Restoration of freedom. reactance, threat to freedom & perceived freedom

Threat to freedom. reactance. percerved freedom & restoration of freedom
3. %

Reactance. perceived freedom. threat to freedom & restoration of freedom
4, %
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Match List — I with List — IT and indicate your answer using codes given below:

List —1I List —IT
(Theory) (Contributors)
p Realistic conflict theory 1. Henri Tajfel
q- Relative deprivation theory 2. Muzafer Sherief
r. Social exchange theory 3. Robert K. Merton
s.  Social identity theory 4. Thibaut & Kelley
Codes:

Options :



1. =
o p-1 q- 2 r- 3 s-4
2.
3 o p-2 q-3 r-4 -1
p-3 q-1 r- 2 5=
4. %
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According to general affective aggression model. a wide range of input variables
influences which of the following?

1) Behaviour
2) Cognitive
3) Excitement
4) Arousal

5) Affect

Codes:

Options :

1,2 &3

3, 4&5

2,4&5
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Which of the following expressions indicate unbalance relationship. according to P-0-X
model?

Options :

P+O. P-X. O-X
1. =

P10, P+X, O+X
2. %

o P-0.PX 0-X

4 P-O. P+tX, O+X
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A technique m which target person’s interest is stimulated by unusual requests to gain
compliance is termed as
Options :
. Playing hard to get
1.

Lowball technique

2. %
Pique technique
3 @ q q
“That’s-not-all" technique
4, %
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Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled

as Reason R

Assertion A: The presence of others increases physiological arousal which energizes
dominant response.
Reason R: When people working in groups assume that their contribution will not be

focused or considered.

Options :

Both A and R are correct and R is the correct explanation of A
1. %

Both A and R are correct but R 1s NOT the correct explanation of A
2.9

A 1s correct but B 1s not correct
3. %

A is not correct but R is correct
4. %
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A specific class of social dilemma in which the people need to contribute to create or
maintain a common resource 1s known as

Options :

| % Resource dilemma

Public good dilemma

3 % Large-scale dilemmas

Social uncertainty
4. %



Question Number : 129 Question Id : 51714411088 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match List — I with List — IT and indicate your answer using codes given below:

List—1I List —II
(Group function) (Description)
p. Roles 1. Rules within a group
q. Status 2. The force that binds the group
Norms 3. Position within a group
5. Cohesiveness 4. Set of behaviours that individuals within a

group are expected to perform

Codes:

Options :

. p-2 q-4 r-1 5= 3
1.
) % p-4 q-2 r-3 s-1
_ p- q-2 r-3 -4

p-4 q-3 r-1 5-2

4. &
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Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled
as Reason R

Assertion A: Pro-social behaviour is often accompanied by psychological and social
rewards for its performer.

Reason R: Negative State Relief Model. views empathic concern as being accompanied

by feelings of sadness that the helper tries to relieve through helping someone i need.

Options :



Both A and R are correct and R 1s the correct explanation of A
1. ¢

Both A and R are correct but R 1s NOT the correct explanation of A

A 15 correct but R 1s not correct

A 1s not correct but R 1s correct
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In clinical setting. which of the following is typically conducted to assess the presence of
cognitive. emotional, or behavioural problems?

Options :

Case-history interview
1. ®

Psychometric test

Mental status examination
3.9

Crisis interview
4. %
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Imagine that “If a client does not return for a second therapy session. you might be
absolutely convinced that this absence 15 due to your terrible performance during mnitial
session as a therapist™. which type of cognitive error you are committing?

Options :



Selective Abstraction

) % Overgeneralization

Labelling and Mislabelling

Personalization
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Which of the following are the techniques used in REBT?

1) Using humour

2) Disputing wrrational beliefs
3) Changing one’s language
43 Rational emotive imagery
5) Shame attacking exercises

Select the correct answer from the codes given below:

Options :

3.4&5

1,2, 48& 5

2&4

1,2,3.4 &5
4.

Question Number : 134 Question Id : 51714411093 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

Bipolar II 1s distinguished from other mood disorders with which of the following

symptom?
Options :
Dysthymia
L Y y

) % Mania

Hypomania
3.¢

Mild depressive episodes

4. %
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Match List — I with List — IT and indicate your answer using codes given below:

List—1I
(Response Type)
p. Clarification
q. Paraphrase
r. Retlection

s.  Summarization

Codes:

Options :

1. %

List—1I
(Intended Purpose)
1. To help the client focus on content of his/her message
2. To have the client experience feelings more intensely
3. To identify a common theme or pattemn

4. To clear up vague messages

5-1

z-1
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Which of the following therapy was initially developed to treat people with chronic
suicide thoughts and borderline personality disorder?

Options :

Dialectic behaviour therapy
1. ¢

Multimodal therapy
2. %

3 % Mindfulness-based cognitive therapy

Acceptance and commitment therapy
4, %
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Students who focus on the task rather than on their ability and concentrate on learning
strategies and the process of achievement instead of the outcome tend to have
Options :

Performance orentation

Mastery of orientation
2.9

Helpless orientation

 Failure-avoiding orientation
4. %
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What 1s Piaget’s formal operational concept that adolescents develop during this stage?

Options :

Hypothetical-deductive reasoning
1.«

Abductive reasoning
2. %

~ Postconventionalreasoning
3. %

Precondition reasoning
4, %
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At which stage of Kohlberg's moral development. children often adopt their parent’s
moral standards?

Options :

| % Stagel

) ® Stage 2

Stage 3
3.¢

4 % Stage 5
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Read the following Assertion (A) and Reason (R) and indicate your answer:

Assertion (A): Lifespan theorists believe that development 1s life-long, and change 1s
apparent across the lifespan.

Reason (R): There is a constant interplay between nature and nurture on the human

development.
Options :

Both A and R are correct and R is the correct explanation of A
1. %

) Both A and R are correct but R 1s NOT the correct explanation of A

A 1s correct but R 1s not correct
3. %

A 1s not correct but R 1s correct
4. %
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As per Socrates’ Greek Philosophy. which of the following 1s NOT true about
eudaemonia?

Options :

It means living well or flourishing
It 1s more than merely attaining pleasure

3 % Being virtuous is almost identical to endaemonia

4 Being virtuous does not guarantee eudaemonia
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Which among these 1s correct for Cyber bullymg?

(A) It involves disinhibition

(B) Lesser role of Bystanders

(C) Ability of targets to retaliate is more

(D) No evidence left behind

Choose the correct answer from the options give below:-

Options :
L% (A) and (B) only

5 (A). (B) and (C) only

3 % (B). (C) and (D) only

(A}, (B) and (D) only
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What is the term given to autonomy or being self-determining. independent and able to

resist social pressures to think and act in certain ways?

Options :

| % Emotional well-being

Social well-being

3 Psychological well-being

Physical well-bemng
4, %
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Consideration of mental health needs of persons with cancer will have positive effects on

(a) Quality of life
(b)  Emotional well-being
(c) Positive biological changes
(d)  Killing carcinogenic cells
Select the correct options:

Options :

L% (a) and (b) only
(¢) and (d) only

3 v (a)-(b)and (c) only

4 % (©)(c) and (d) only

Question Number : 145 Question Id : 51714411104 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are characteristics of post-trauma growth?
(a) Relationships are strengthened or enhanced

(b) Selt-views become more positive

(¢) Life philosophies become ambiguous

(d) Greater acceptance of personal limitations

Select the correct options:
Options :
. (a), (b) and (c) only
1.

- (a), (b) and (d) only
(b). (¢) and (d) only
®

4. % (a). (¢) and (d) only
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Passage (146-150)

Peace psychology came of age in the latter half of the 20th century and is understood most
clearly when situated in the context of World Wars I & II as well as the Cold War. Peace
psychology began to take root after the end of the cold war, its goal to “increase and apply
psychological knowledge in the pursuit of peace includingboth the absence of destructive
conflict and the creation of positive social conditions which mimimize destructiveness and
promote human well-being. One of the earliest psychologists, William James, who has since
been referred to as the first peace psychologist, shed light on some of these nuances. namely the
psychological dimensions of war, blind nationalism. imperialism and war fever, state-sanctioned
violence, and public support of hostility. The American Psychological Association began to
probe the effects of threats of atomic warfare as well as the potential psychological effects on
populations experiencing atomic bombardment. Dissent began to emerge within the
psychological establishment with Gordon Allport. Hadley Cantril. and Otto Klineberg began to
push for peace. arguing that the atmosphere of the era of nuclear warfare called a new form of
diplomacy and the abolition of war. Peace psychologists began to revisit the notion of
‘Realpolitik’: the belief that politics 1s reducible to three basic goals: keeping power. mncreasing
power, and demonstrating power which was theorized in 1972, mn order to analyse power
dynamics behind violence and non-violence. war and peace. A culmination of ideas and theories
that lie at the intersection of cross-cultural psychology., positive psychology. and social
psychology. Peace psychology draws from the observations made in neighbouring fields of
psychology. applying them to analyses of peace. war. conflict, violence, and non-violence. It
aimsto prevent and mitigate direct and structural violence, promoting conflict resolution and the
pursuit of socially just ends. Peace psychology centres around a four-fold model that focuses on
the nuances of direct Violence. structural violence, peace-making and peace building. Direct
violenceis an episodic and acute manifestation of violence. It 1s the overt harm meted out to
people. killing. injuring the physical being instantly and dramatically. Structural violence is
endemic to economic systems that produce a concentration of wealth for some while exploiting
others, hierarchical social systems that are suffused with intolerance. Peace- making focuses on
prevention of violent episodes by using procedures that encourage dialogue. empathy. and
win/win outcomes. Peace- building entails preventing and mitigating episodes of destructive
conflict and violence and the active pursuit of social justice. Peacebuilding includes proactive
behaviours such as defunding violent systemic manifestations of structural violence like the
police and addressing structural mequalities that are’have been the antecedents of violent
episodes and contlict.

Sub questions
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Correct Marks : 2 Wrong Marks : 0

Who is claimed to be the first Peace Psychologist?
Options :
Gordon Allport

5 % Hadley Cantril

3 William James

Otto Klineberg
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Which refers to overt harm meted out to people. killing. injuring the physical being
mnstantly?
Options :

Structural violence

) % Conflict

3 % Discrimination

4. Direct violence
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refers to the belief that polities 1s reducible to three basic goals.

Options :

Aristocracy



Real politik
2.9

3 % Democracy

. Peace
4. %
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activities encourage dialogue, empathy, and win/win outcomes to prevent
violent episodes.

Options :

1 ® APA
Media

2. %

Peace making
3.¢

Peace building
4, %
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The aim of Peace Psychology 1s to:

Options :

% Prevent and mitigate direct and structural violence

" Promote conflict resolution

Pursuit of socially just ends
3. %



All the above
4. ¢



